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Step 1:Initialization

« egsbKk Upegsc TfE 1041 TLYSHcommonld.
FhFnincludeT <L )—RU
pegscommonsT AL IK8)—MD T 74 )L
% "include’ X THY AL

o EEMNLIRMEINI=DAAN)—BHRLGED
A—H—a—KFOH TEHIN Hcommon
[&. auxcommonsT 4L OK)—D 774 IL%
includeX THY AL




BIIDRESDIEE

commonTERASIN TS EHDEFTI D KRESIE.

parameter3X TH& €
— egSSTERASIN TLVAcommonD ZE .
Include/egsb _h.f

- A—Y—a—FTOHERENScommonD E .
auxcommns/aux_h.f

common&BL &S (ZincludeXXIZ&YEYAEN S,

BRI DRKESZEET HIGEIL. parameter XD E
MEZHEITH




include 'include/egs5 h.f' I Main EGS "header" file

include 'include/egs5 bounds.f'
include 'include/egs5 brempr.f'
include 'include/egs5 edge.f'
include 'include/egs5 media.f'
include 'include/egs5 _misc.f'
include 'include/egs5 thresh.f'
include 'include/egs5 uphiot.f!
include 'include/egs5_ useful.f'
include 'include/egs5 usersc.f'
include 'include/egs5 userxt.f’
include 'include/randomm.f'

egss common [CEFENDIEREA TS

SLEDOTOYTSLBEATHERTIIEEIE.
includeX TH&Zcommon& g7



include 'auxcommons/aux_h.f' ! Auxiliary-code "header" file

include 'auxcommons/edata.f
include 'auxcommons/etaly1.f'
include 'auxcommons/instuf.f'

include '"auxcommons/lines.f' A AN —BFEE L ———FK

include '‘auxcommons/nfac.f' DHTEAEHN Bcommon
include '‘auxcommons/watch.f'

CGE{& M commonT., CGE{FERIT HIGRICIXEICVNE(EEEL)

include 'auxcommons/geom_common.f' ! geom-common file
integer irinn



In include/egs5_ h.f

I Maximum number of different media (excluding vacuum)

integer MaMED WMEOBEEOLILBEIS
parameter (MXMED=4) X COBIELEET 3,

include/egs5_misc.f

common/MISC/ I Miscellaneous COMMON
*rhor(MXREG), dunit,
*med(MXREG),iraylr(MXREG),Ipolar(MXREG),incohr(MXREG),
*iprofr(MXREG),impacr(MXREG),
*kmpi,kmpo,noscat

real*8
*rhor,dunit

integer
*med,iraylr,Ipolar,incohr,iprofr,impacr,kmpi,kmpo,noscat



common/totals/ I Variables to score

* depe(20),faexp,fexps,maxpict,ndet cD1—H—a—FEED
real*8 depe,faexp,fexps common
iInteger maxpict,ndet

main programTERA T A SR EDEM

I**** real*8 I Local variables
real*8
* area,availke,depthl,depths,dis,disair,ei0,ekin,elow,eup,
* phaiO,phai,radma2,sinth,sposi,tnum,vol,w0O,wimin,wtin,wtsum,
* Xhbeam,xpf,ynhbeam,ypf

real*8 bsfa,bsferr,faexps,faexp2s,faexrr,fexpss,fexps2s,fexerr,
* faexpa,fexpsa

real*8
*depeh(20),depeh2(20),dose(20),dose2(20),doseun(20)



main program TERA T S EBEEDEH

real
* tarray(2),tt,tt0,ttl,cputime

main program TEA T 5B#

integer
*,il,ibatch,icases,idin,ie,ifti,ifto,imed,ireg,isam,
* ixtype,j,k,kdet,nnn

MBRIZERTHAXFEHR(24XF)

character*24 medarr(2)



OpenXX

a1—H—3

FHvo. pegseEITI ADIZ

£Ly, 2 =whk7-26l%. pegsT closech 5

ZEND A TAY S LT open LTLNT
%), pegsEEITIRIZ. BE open 95 EDw
BLlb, TDI=H. A= yhr7-26DE A%

BT DM

RLUY,

A =yk300d., REMBEERDO B AT 7AILT

HB,



Step 2:pegsb-call

 MBT—2RUVLZYE Dcharacteristic
distanceZz ik EEL /=& T. pegsbzcald %,

nmed=2 PegSSTIER T A MEBET—
medarr(L)=WATER-APRIM-PHOTX ' &gz boosso A4
medarr(2)="AIR-AT-NTP-IAPRIM SRSt oV
A AH) EXF IS

do j=1,nmed

do i=1,24 .

media(i j=medarr(j)i:i) f%ﬁ@d‘arade”s“c

end do mension

end do L EE DY — T3 T,

LIPSV A XEIEE
chard(l) =1.0d0! automatic step-size control
chard(2) = 1.0d0



Step 3:Pre-hatch-call-initialization

npreci=3 ! PICT data mode for CGView in free format

ifti=4 I'lnput unit number for cg-data

ifto =39 ! Output unit number for PICT CGEA BN MIEA (TS5 504
Wl’lte(6,fmt:"(' CG datal)n) CG€1§ﬁq—§—éiﬁé(i\ %EL@L\O
call geomgt(ifti,6) ! Read in CG data
write(6,fmt="(' End of CG data',/)")

if(npreci.eq.3) write(ifto,fmt="("CSTA-FREE")")
if(npreci.eq.2) write(ifto,fmt="('"CSTA")")

rewind ifti

call geomgt(ifti,ifto)! Dummy call to write geom info for ifto
write(ifto,110)

FORMAT('CEND")

nreg=izonin



78

77/ \-L\{&O):I:X AE

NADREFTHEET DS

RREARZTEDHEEGIER T DE:
=9 H=OIZETE

CGHZIK(RPP:IE A A THERL)

TJ7 N LBIDZERE
J7 LD 5EE

3%



RPP 1-15.0 15.0 -15.0 15.00 -5.0 0.00 «——— ==
RPP 2-150 15.0 -15.0 15.00 0.0 20.00— J7 kL
RPP 3 -05 05 -0.5 050 0.0 1.00

RPP 4 -05 05 -05 050 1.0 2.00 / Jr%:%
L7=UV5E

RPP 5 -05 05 -05 050 20 3.00

RPP 6 -05 05 -05 050 30 4.00 ;{;ﬁg;ﬁ’y

RPP 7 -05 05 -05 050 4.0 5.00

RPP 8 05 05 -05 050 50 6.00

RPP 9 -05 0.5 -0.5 050 6.0 7.00
RPP 10 -0.5 0.5 -0.5 050 7.0 8.00
RPP 11 -0.5 0.5 -0.5 050 8.0 9.00




RPP 17 -0.5

RPP
RPP
RPP
RPP
RPP
RPP
RPP
RPP

18
19
20
21
22
23

24 -15.0
25 -20.0

-0.5
-0.5
-0.5
-0.5
-0.5
-0.5

0.5 -0.5 0.50 14.0 15.00 o=t s

0.5 -0.5 0.50 15.0 16.00 L7=U\fEiE %
E&ET 5T

0.5 -0.5 050 16.0 17.00 b D body

0.5 -0.5 0.50 17.0 18.00
0.5 -0.5 0.50 18.0 19.00
0.5 -0.5 0.50 19.0 20.00——

REFTREOEMRE
05 05 050 00 2000 “~—— zmagzioq

15.0 -15.0 15.00 20.0 25.00 «— HEOHLEL=E

20.0 -20.0 20.00 -20.0 40.00 * KZLHAr%ES
body



Z1
Z2
Z3
Z4
VA4S
Z6
Z7
Z8
Z9
Z10
Z11
Z12
Z13
Z14

+10
+11
+12
+13
+14
+15

A

J7URLHEINDZESR :region 1

_— REETHOZMRE:region 2-14



Z15 +16 ——— BEHEOLESE: region 15-21

Z16 +17

Z17 +18

Z18 +19

Z19 +20

Z20 +21

Z21 +22

222 +2 -23 « REFTE LIS D 7ELE : region 22
Z23 +24 < BHEDZESE region 23

724 +25 -1 -2 -24 SHE#& T D481 :region 24



H)—2av~ADME. BEA T IV DETE
| Read material for each refion from egs5job.data
read(4,*) (med(i),i=1,nreq)

| Set option except vacuum region -
7ML =23V T ABEFOAE

do i=2,nreg-2 7. FIEXER. b*f')-’ﬁ*&EL?J'j’/El

if(med(i).ne.0) then VEEE
iphter(i) =1 ! Switches for PE-angle sampling
ledgfli)=1 !K & L-edge fluorescence
lauger(i)=0 ! K & L-Auger
iraylr(i) =1 ! Rayleigh scattering
Ipolar(i) =0 ! Linearly-polarized photon scattering
incohr(i)=0 ! S/Z rejection
iprofr(i) =0 ! Doppler broadening
impacr(i) =0 ! Electron impact ionization

end if

end do



)=V BIZERETESA T ay

ecut,pcut |D0OOU0O0OO0OO0OOO(IOOOODO)
iphter O000000oooooooa
iedgfl K&L-OOXOOOO

lauger K&L-OOOOODOOOO

iraylr Oooodn

Ipolar DO0ooooooon

incohr S/Z rejection

iprofr Oo00oooon

impacr Ooooon




ELE (ranluxELER)

I Random number seeds. Must be defined before call hatch
I or defaults will be used. inseed (1- 2*31)

luxlev =1
inseed=1
write(1,120) inseed
120 FORMAT(/," inseed=",112,5X,
* ' (seed for generating unique sequences of Ranlux)')

Ripot-iscedBIC. EELGVELBZHETHEMATHE
A REDESICAM



Step 4: ASHRLIFD/INTA—F—ERTE

Source position from phantom surface in cm.

sposi=10.0

1qin=0 I Incident charge - photons
ekein=1.235 I Kinetic energy of source photon
etot=ekein + abs(igin)*RM

xin=0.D0

yin=0.D0 PFOMEHE, TRILEX—HLE. A

oDy ASHTFORTBU—Ua (rin=0;co EERASHEL THE)

vin=0.D0
win=1.D0
irin=0 ! Starting region (0: Automatic search in CG)



I7VLARBETOXRUYDH
[ETEDERE

X-direction half width of beam at phantom surface in cm.

xhbeam=1.0
Y-direction half height of beam at phantom surface in cm.

yhbeam=1.0
radma2=xhbeam*xhbeam+yhbeam*yhbeam

wimin=sposi/dsqrt(sposi*sposi+tradmaz2)

B ST 0 I2% 59 B cos6



Step 5:  hatch-call

EF BEFNDEIRILF—DERKIERE
emaxe& L TR EL . hatch Z# call 95

nJL&LAJT"Iﬁ*&%ﬁ% le\a—éf—-&)'ﬁs q:%é:
T—ARUVK) =30 DIEHRELENTS

mil
11

emaxe = ekein + RM

BRAFALFOEE . ELMHICBBELFOIRILT—IZEFD
BRI TRILX—FMAT-EEXHTETS



Step 6:1nitiali zation-for-howfar

e 1—H—O—FTHERATIHBRT—IFERETS
— i, AR BKGEIZET 5T —4
o CGEHERALTWAZDA—H—a—KTI&. BRRIZET

5T —43I, Cg)\jl?\ &L Tstep 6LARTIZALIEL TLY
HDT, COSPTEHRTET H&IFELy

REMERI7AILA~DYET—2FDHEN

write(39,fmt="("MSTA")")
write(39,fmt="(i4)") nreg
write(39,fmt="(15i4)") (med(i),i=1,nreq)
write(39,fmt="('"MEND")")



Step 7. Initialization-for-ausgab

SETKROH=DHHERIE

FIDMEE T, BEFSTEZ T H)—3a> D
STEL-UL e RR)—#(ncases)., FEMT—4
i8R 9 AERN)—BDERTE

History number
ncases=100000
Maximum history number to write trajectory data

maxpict=100

write(39,fmt="(0 1)) REMEHRIFAILADN\YFESH S



Step 8: Shower-call

e NcasesHMDERRN)—FETT S
o ZHERN)—&IZ, BIRIGIR(FLFDIELE.
IRILF— LB, AR ZFETE

o IRIERIFDEENS, FIERIFND!)—3
VEEFEY—F




240

call randomset(w0)
win=wO0*(1.0-wimin)+wimin
call randomset(phai0) 48 N E R EDRE
phai=pi*(2.0*phai0-1.0) . D EESEL. Ll
sinth=dsqrt(1.D0-win*win) %E’é@fféﬁ?&:éa(:& s
uin=dcos(phai)*sinth HEBYET ¥
vin=dsin(phai)*sinth
dis=sposi/win
xpf=dis*uin
ypf=dis*vin
if (dabs(xpf).gt.xhbeam.or.dabs(ypf).gt.yhbeam) go to 240
If (sposi.gt.5.0) then
disair=(sposi-5.0)/win RROMENEIEBOMNMIDIZEES. ER
xin=disair*uin BOAYATOMEZASFTHFOMEEL
yin=disair*vin TEE
zin=-5.D0
else
xin=0.D0
yin=0.D0
Zin=-sposi
end if



ASFHHFDEENS., TDBAD)—30FBEEZKRDD
irin=0&M T, CCTY—Ia B BNERTEINS

if(irin.le.0.or.irin.gt.nreqg) then
call srzone(xin,yin,zin,igin+2,0,irinn)
call rstnxt(igin+2,0,irinn)

else
irinn=irin

end if



AELEFVEDENELZDFRERDE-OHIZEAN)—BDELLZDBEFERZMZS

do kdet=1,ndet
depeh(kdet)=depeh(kdet)+depe(kdet)
depeh2(kdet)=depeh2(kdet)+depe(kdet)*depe(kdet)
depe(kdet)=0.0
end do

faexps=faexps+faexp
faexp2s=faexp2s+faexp*faexp
faexp=0.0
fexpss=fexpss+fexps
fexps2s=fexps2s+fexps*fexps
fexps=0.0



G A SR ]

e XZEUTHILATHEIZLO>TRDODDIEET S,
e« MCNPTHERALTWAEREZILMT HHE

— HEENEDAF” FIFITOWWTIThh, x [, i-BEDEXK
) —D#HERTHHET D

N
%ZX x, DFIE
i=1
1 1N X; D5 ER
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Step 9: Output-of-results

o BRIRFEHA. FIRFDIFHRD H 7
- EDFRGFAR THOHMNZRI =OHICH T
- cgDIZE L, BIRET IO EERT IEN
ﬁ?’é?ﬁib\d)’& LEIFRIRERELTHN
« EHEDOFMEZTDBEERONMND, KHT=LY
EOFHELREZTREL. HATS




IR IR iR =

area=1.D0*1.D0O
do kdet=1,ndet
vol=area*1.D0
dose(kdet)=depeh(kdet)/ncases
dose2(kdet)=depeh2(kdet)/ncases
doseun(kdet)=dsqrt((dose2(kdet)-dose(kdet)*dose(kdet))/ncases)
dose(kdet)=dose(kdet)*1.602E-10/vol
doseun(kdet)=doseun(kdet)*1.602E-10/vol
depths=kdet-1.0
depthl=kdet
write(6,320)depths,depthl,(media(ii,med(kdet+1)),ii=1,24),
* rhor(kdet+1),dose(kdet),doseun(kdet)
320 FORMAT(' At',F4.1,'--",F4.1,'cm (*,24A1,',rho:',F8.4,)=",
* G13.5,'+-',G13.5,'Gy/incident")
end do



ausgab

ausgab (. 1 —H—M G -LMFHRE LRI A YT IL—F
THD
27 LFEI TORIIRE

7V LRETOESHRE

iIf (irl.ge.2.and.irl.le.nreg-3) then
idet=irl-1
if(idet.ge.l.and.idet.le.ndet) then
depe(idet)=depe(idet)+edepwt/rhor(irl)
end if
end if

REFTEOEBONTFOIGEE ., BAUESS-Y DRI
EZRETS

rhor (irl)I&. HiZ—av DEE



RSREDTHE

if (abs(irl-irold).eq.1.and.ig(np).eq.0) then KFAEERT1EE
if((w(np).gt.0.0.and.irl.eq.2).or.(w(np).le.0.0.and.irl.eq.1))
* then 7 LETEDGS
if (dabs(w(np)).ge.0.0349) then
cmod=dabs(w(np)) EEAFR: BEUERZEBT HHFRD
else E‘I’% --cosH a)*ﬁIE
cmod=0.0175
end if
esing=e(np) / IRILEXF—ESINGDRFIZHT S
dcon=encoea(esing) | PHOTX data ZEXDOEERIVZRE

fexps=fexps+e(np)*dcon*wt(np)/cmod

if (w(np).1t.0.0) latch(np)=1

if (w(np).gt.0.0.and.latch(np).eq.0) then
faexp=faexp+e(np)*dcon*wt(np)/cmod

end if

end if
end if



howfar

howfar [X. egs [TV A AN —IZB89 B EHREITAD YT

JL—F>

howfar (&, ustep DFEFIZ, )—DaVERNHLEIMNEIIE

FARD, HAIGEEIZIE,

—ustep FIEFRETCHDIRBICEZTHRZ S

—imew ZRFMNASTIK) =23 0 BEFITERTET
Z3)

FLFH . —H—HVEHZE LEHT-UVRRIE (B (KR ) [23E

L-EHULMZIZE., idiscard 750 F 12X ET 5

FRITLZOFAN)—IL—T 1o BIZEGE>F-howfarklib

— g EALTWAESF. CO1—Y—a—FDOhowfaZ{EHE3 3




—= SIS1=H B
=5 Rl

K E ored 1 #RIREC0-60ICK A | 1.173MeV £1.333MeV it

FZRICHERTHERESES,

EEREE2: 100KV DXIR (AXNYBFILT—AIF, xray.dath

BERAIAA)T—RAHWNTH T T T 5,

EEEEI HOETIVICEET S

— HIE M S3cmz @& O A K. 3-13cmz i (% E0.3g/cmd) &L,
ZDERZIZ3em O ANAIEBNHIERRIZERT D, FRIE, TD
X§gE9 5,

EE Rl EETE T

— ORIEISIMDEEIZ. BEE2cmDBBEERTET S, BELRE
BDKET S,

— BEX. X, Y-FRAEEIZHENA>TWAERTET S, IEREIL. TD
X§gET 5,

EHIEES - EREDFEA
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